
SAP ABAP table RJHAEAVB {IS-PAM: Update structure for JHAEA}

RJHAEAVB

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

UPOS_NR [NUMC (4)]

EIN_NR [NUMC (6)]

UR_BELEINH [CHAR (10)]

BELEGEINH [CHAR (10)]

E_BELEINH [CHAR (10)]

INHK_EINT [CHAR (8)]

INHK_PLAZ [CHAR (8)]

INHK_PLEV1 [CHAR (8)]

INHK_SOVER [CHAR (8)]

SEITE_FSP [CHAR (4)]

E_VAVARTYP [CHAR (2)]

S_VAVARTYP [CHAR (2)]

VAUSGB [CHAR (10)]

ANNSCHL_EH [UNIT (3)]

AZART_PLAZ [CHAR (4)]

PLAZIERUNG [CHAR (2)]

JDTVAUSGB

MANDT [CLNT (3)]

VAUSGB [CHAR (10)]

 RJHAEAVB-VAUSGB = JDTVAUSGB-VAUSGB 
0..N

0..N

JHAE

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

UPOS_NR [NUMC (4)]

EIN_NR [NUMC (6)]

 RJHAEAVB-EIN_NR = JHAE-EIN_NR 
0..N

0..N

JHAK

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

 RJHAEAVB-AVM_NR = JHAK-AVM_NR 
0..N

0..N

JHAP

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

 RJHAEAVB-POS_NR = JHAP-POS_NR 
0..N

0..N

JHAU

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

UPOS_NR [NUMC (4)]

 RJHAEAVB-UPOS_NR = JHAU-UPOS_NR 

0..N

0..N

JJTBE

MANDT [CLNT (3)]

BELEINH [CHAR (10)]

 RJHAEAVB-BELEGEINH = JJTBE-BELEINH 

0..N0..N
 RJHAEAVB-E_BELEINH = JJTBE-BELEINH 

0..N1  RJHAEAVB-UR_BELEINH = JJTBE-BELEINH 
0..N

1
JJTIKO

MANDT [CLNT (3)]

INHALTSKOM [CHAR (8)]

 RJHAEAVB-INHK_EINT = JJTIKO-INHALTSKOM 

0..N0..N  RJHAEAVB-INHK_PLAZ = JJTIKO-INHALTSKOM 

0..N1
 RJHAEAVB-INHK_PLEV1 = JJTIKO-INHALTSKOM 

0..N1
 RJHAEAVB-INHK_SOVER = JJTIKO-INHALTSKOM 0..N1

T000

MANDT [CLNT (3)]

 RJHAEAVB-MANDT = T000-MANDT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 RJHAEAVB-ANNSCHL_EH = T006-MSEHI 

0..N

1

TJD05

MANDT [CLNT (3)]

VAVARTYP [CHAR (2)]

 RJHAEAVB-E_VAVARTYP = TJD05-VAVARTYP 

0..N

0..N

 RJHAEAVB-S_VAVARTYP = TJD05-VAVARTYP 

0..N

0..N

TJJ15

MANDT [CLNT (3)]

AZART_PLAZ [CHAR (4)]

 RJHAEAVB-AZART_PLAZ = TJJ15-AZART_PLAZ 

0..N

1

TJJ47

MANDT [CLNT (3)]

SEITE_FSP [CHAR (4)]

 RJHAEAVB-SEITE_FSP = TJJ47-SEITE_FSP 

0..N

1

TJJ65

MANDT [CLNT (3)]

PLAZIERANW [CHAR (2)]

 RJHAEAVB-PLAZIERUNG = TJJ65-PLAZIERANW 

0..N

1


